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10 equaMI — 310 1 1EeCATOK
10 cM — 93710 1 1ECATOK CAHTUMETPOB =
1 nemumeTp
10cm =1 am
1 aMm=10cm



c10+1=11=1 nec.1 ex.
c10cv+1Tcev=11cv=1 11 cm

e 10 + 2 = ... = ... IcCu uas €]la
c 10 cM*+ 2CM = caaCM = sae IIM uaa CM

c1nec. T en. =17 =10+ 7
1 mmM7TcM=17T cM=10cm + 7 cm

¢ 1 ﬂeClg eI[. = HEE = HEE + | B N |
1 MO M= saCM = saa CM + oaa CM



COENAUN CAM:

l14cm=...0M...CM l1aM8CcM=...CM
lecMm=...0M...CM ilaMm3cCcM=...CM




[MPOBEPb CEBA:

l4cm=1amM4 cCcm l1oamMm8cmMm=18CcMm
lecm=1a0M 6 CM lam3cm=13cm




